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SECTION A [20 Marks]

This section consists of 20 questions. Answer each question by blackening the correct space on the objective answer.

Bahagian ininmengandungi 20 soalan. Jawab setiap soalan dengan menghitamkan di ruangan jawapan objektif.

	1
	Express 413 000 in standard form

Nyatakan 413000 dalam bentuk piawai

	
	A
	4.13 X 105
	C
	4.13 X 10-5

	
	B
	4.13 X 106
	D
	4.13 X 10-6

	
	
	
	
	

	2.
	Round off 30106 correct to three significant figures.

Bundarkan 30106 kepada tiga angka bererti.

	
	A
	30 000
	C
	30 100

	
	B
	30 110
	D
	30 200

	
	
	
	
	

	3
	0.0078 – 6 × 10-5 

	
	A.
	1.83 × 10-3
	C
	7.74× 10-3

	
	B
	1.83 × 10-5
	D
	7.74× 10-5

	
	
	
	
	

	4.
	State the value 83.57 ÷ 54.14 × 5.2 in two significant figures.

Nyatakan nilai 83.57 ÷ 54.14 × 5.2 dalam dua angka bererti.

	
	A
	8.0
	C
	8.03

	
	B
	8.02
	D
	9.0

	
	
	
	
	

	5.
	Factorise 4a2 – 4a – 8 completely

Faktorkan 4a2 – 4a – 8 dengan lengkap

	
	A
	(2a+2)(2a+4)
	C
	(2a – 4)(2a+2)

	
	B
	(2a+4)(2a – 2)
	D
	(2a – 2)(2a – 4)

	
	
	
	
	

	6.
	Given s = 4r2 – 5r + 6. Find the value of s when r = -2

Diberi s = 4r2 – 5r + 6. Cari nilai s apabila r = -2


	
	A
	32
	C
	0

	
	B
	8
	D
	-12

	
	
	
	
	

	7
	The figure below shows the marks scored by Adlene in Mathematics’ quiz.

Rajah di bawah menunjukkan skor markah oleh Adlene dalam kuiz Matematik.

[image: image1.png]pm3 _p7e
B




If the mode is 7, then the possible value of x is

Jika mod ialah 7, kemudian nilai yang mungkin bagi x ialah

	
	A
	5
	C
	9

	
	B
	6
	D
	8

	
	
	
	
	

	8
	Express [image: image2.png]pm3 _p7e
B



 as a single fraction in its simplest form.

Nyatakan [image: image3.png]pm3 _p7e
B



dalam bentuk teringkas sebagai pecahan tunggal 

	
	A
	[image: image4.png]-3—p-p°




	C
	[image: image5.png]-3+p-p°





	
	B
	[image: image6.png]-3—p-p°





	D
	[image: image7.png]-3+p-p°






	9
	Given that T = [image: image9.png]


, express m in terms of T and K.

Diberi T=[image: image10.png]


 , nyatakan m dalam sebutan T dan K.

	
	A
	m = 9KT2
	C
	m= [image: image12.png]




	
	B
	m = 3KT2
	D
	m= [image: image14.png]T*





	
	
	
	
	

	10
	6(8h + 10)2 +5h =

	
	A
	64h2+155h+100
	C
	64h2+955h+100

	
	B
	64h2+165h+100
	D
	64h2+965h+100

	
	
	
	
	

	11
	Given that 2x + 4= x. Find the value of x

Diberi 2x + 4= x. Cari nilai x

	
	A
	-4
	C
	3/4

	
	B
	4
	D
	-3/4

	
	
	
	
	

	12
	4.5 X 10-6 + 7.3 X 10-7

	
	A
	11.8 X 10-6
	C
	11.8 X 10-7

	
	B
	3.77 X 10-6
	D
	3.77 X 10-7

	
	
	
	
	

	13
	3.5X 108 + 9.2 X 107

	
	A
	4.42 X 107
	C
	4.42 X 108

	
	B
	9.55 X 107
	D
	9.55 X 107

	
	
	
	
	

	14
	5.41 X 103 -2.21 X 102

	
	A
	5.189 X 103
	C
	3.2 X 103

	
	B
	5.189 X 102
	D
	3.2 X 102

	
	
	
	
	

	15
	Expand 3(x + 2) – (1-2x)2

Kembangkan 3(x + 2) – (1-2x)2

	
	A
	1+3x – 4x2
	C
	5+3x + 4x2

	
	B
	1+7x + 4x2
	D
	5+7x – 4x2

	
	
	
	
	

	16
	[image: image15.png]0.034
1.7 X 107





	
	A
	2 X 10-5
	C
	2 X 10-8

	
	B
	2 X 10-6
	D
	2 X 10-9

	
	
	
	
	

	17
	Expand (p – q)(p + q) + p(p – q)

Kembangkan (p – q)(p + q) + p(p – q)

	
	A
	2p2 – q2 - q
	C
	2p2 – q2 + pq

	
	B
	2p2 – q2 - pq
	D
	2p2 + q2 - pq

	18
	Diagram below shows a set of data. Find the mode of the data.

Rajah di bawah menunjukkan satu set data. Cari mod data tersebut.

[image: image16.wmf]3
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	A
	3
	C
	4

	
	B
	5
	D
	9

	
	
	
	
	

	19
	Express 3m2 – 2m = 4 in general form.

Nyatakan 3m2 – 2m = 4 dalam bentuk am

	
	A
	3m2 – 2m + 4= 0
	C
	3m2 + 2m + 4= 0

	
	B
	3m2 – 2m -4=0
	D
	3m2 +2m -4=0

	
	
	
	
	

	20
	8.5 X 10-6 – 6.1 X 10-7

	
	A
	7.89 X 10-7
	C
	2.4 X 10-7

	
	B
	7.89 X 10-6
	D
	2.4 X 10-6

	
	
	
	
	


	1
	Section B

[25 marks]

Answer all questions in this section.

Jawab semua soalan di bahagian ini.

Using factorisation, solve the following quadratic equation.

Dengan menggunakan pemfaktoran, selesaikan persamaan kuadratik di bawah.

[4 marks/ 4 markah]

4y2 +15 = 17y


	2
	Expand 2(m + 3)(2m – 8)/ Kembangkan 2(m + 3)(2m – 8)
Factorise 2x2 + 8x/  Faktorkan 2x2 + 8x.
Factorise 6y2 – 9/ Faktorkan 6y2 – 9
 [8 marks/ 8 markah]



	3
	Calculate the value of g and h that satisfy the following simultaneous equation

Kira nilai g dan h yang memenuhi persamaan serentak di bawah

[4 marks/ 4 markah]

g + 2h= 1

4g – 3h = -18



	4
	The figure below shows that a cylinder and a hemisphere. Given that the radius of cylinder is 4cm. Find the volume of the solids in cm3
Rajah di bawah menunjukkan sebuah silinder dan hemisfera Diberi radius bagi silinder ialah 4cm. Cari isipadu pepejal dalam cm3
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Formula:


Volume of right prism 


=Cross sectional area × length	


Volume of cylinder = πr2h


Volume of cone =  � EMBED Equation.3 ���πr2h


Volume of sphere =  � EMBED Equation.3 ���πr3


Volume of right pyramid 


=  � EMBED Equation.3 ��� × base area × height
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